Problem 1—Toric Bogge
written by Andy Poe

Michelle Kwan loves dowghnus! She loves them so much that she even likesto play word
games with them. Michelle knows, just aswe dl do, that the mathematicd word for “douwghnut”
is“torus’ and you can turn aredangle into atorus by pasting its top and bdtom edges together
anditsleft and right edges together.

Given atoric grid o letters, you are to find hav many times one spedfic word (or sequence of
letters) appeasinthegrid. Asinthe popuar game “Boggde,” from ead letter, you may jump to
an adjacent letter, haizontally, verticdly, or diagonaly. You reed nad move in the same
diredion all the way through the word; you may change diredions as many times asyou like, bu
you may not visit the same square more than orce. Sincethisis Toric Bogdle, you must imagine
that the top and bdtom edges and the left and right edges are pasted together, like adoughnu!

If aword can be foundmore than orceby visiting the same set of letters in a diff erent sequence,
you are to count ead sequence & adistinct solution. (For example, palindromes (of length
greder than ore) court (at least) twice)

INPUT SPECIFICATION. Youwill begivenaset of inpu cases. Each casewill be anon
empty redangular grid of cgpital letters (ead line terminated by <EOL N> with an extra

<EOL N> &fter the last linein the grid), followed by a nonrempty string of capital letters
(representing the seach word) and two <EOL N> charaders. Thelast case will be foll owed by
<EOF>. Therows and columns of the grid will never be more than ten charaders long.
OUTPUT SPECIFICATION. The output cases shoud appea in the same order asthe inpu
cases. Eadh ouput case will be of the form “Case c: w appeast time(s).” where c is the number
of theinpu case, w is the seach word andt is the number of times that word appeasin the grid.
Eadh ouput case shoud be followed by two <EOL N>'s.

SAMPLE INPUT.
AAX<EQOLN>
AXAEQLN>
XAAECLN>
<EOLN>
XXX<ECLN>
<ECLN>
BOOBOEOLN>
OBOOB€CECLN>
OOBOOEECOLN>
<EOLN>
BOGEOLN>
<ECLN>

<ECF>

SAMPLE OUTPUT.
Case-1:-XXX-appears-6-time(s). <EOLN>
<EOLN>

Case-2:-BOO-appears-180-time(s). <ECQLN>
<ECLN>

<EOF>




